陳正宗終身特聘教授
Homework 2014-05-05工程數學(二) 2B 第九次課堂小考(解答)
                  系級:               學號:            姓名:          








試求(1)   (2)   (3) 時，？()

<sol>
[bookmark: _GoBack]



    

    

    

    


    




     

     

     



     

	




    

    

    

    


    
2014/05/05  檔名: Quiz 2014-05-05-No.9(sol) .doc 偉軒製表 
oleObject2.bin

image3.wmf
1

=

2

t


oleObject3.bin

image4.wmf
=1

t


oleObject4.bin

image5.wmf
()

ft

=


oleObject5.bin

image6.wmf
=1~5

n


oleObject6.bin

image7.wmf
5

22

1

11cos()

(0)=((cos()1)cos(0)sin(0))

4

n

n

fnnn

nn

p

ppp

pp

=

+-×-×

å


oleObject7.bin

image8.wmf
5

22

1

11cos()

=((cos()1)10)

4

n

n

n

nn

p

p

pp

=

+-×-×

å


oleObject8.bin

image9.wmf
5

22

1

11

=((cos()1))

4

n

n

n

p

p

=

+-

å


oleObject9.bin

image10.wmf
22

222

111

=(cos()1)(cos(2)1)

44

111

(cos(3)1)(cos(4)1)(cos(5)1)

91625

pp

pp

ppp

ppp

+-+-+

-+-+-


oleObject10.bin

image11.wmf
22222

111111

=(11)(11)(11)(11)(11)

4491625

ppppp

+--+-+--+-+--


oleObject11.bin

image12.wmf
222

1222

=

4925

ppp

---


oleObject12.bin

image13.wmf
=0.0167


oleObject13.bin

image14.wmf
5

22

1

1111cos()1

()=((cos()1)cos()sin())

2422

n

n

fnnn

nn

p

ppp

pp

=

+-×-×

å


oleObject14.bin

image15.wmf
5

22

1

11cos()

=((cos()1)0sin())

42

n

nn

n

nn

p

pp

pp

=

+-×-×

å


oleObject15.bin

image16.wmf
5

1

1cos()

=(sin())

42

n

nn

n

p

p

p

=

+-×

å


oleObject16.bin

image17.wmf
1cos()1cos(2)

=sin()sin()

422

cos(3)3cos(4)cos(5)5

sin()sin(2)sin()

32452

pp

pp

pp

ppp

ppp

ppp

-×-×-

×-×-×


oleObject17.bin

image18.wmf
1111

=1(1)1

435

ppp

---

-×-×--×


oleObject18.bin

image19.wmf
1111

=

435

ppp

+-+


oleObject19.bin

image20.wmf
=0.5259


oleObject20.bin

image21.wmf
5

22

1

11cos()

(1)=((cos()1)cos(1)sin(1))

4

n

n

fnnn

nn

p

ppp

pp

=

+-×-×

å


oleObject21.bin

image22.wmf
5

22

1

11cos()

=((cos()1)cos()0)

4

n

n

nn

nn

p

pp

pp

=

+-×-×

å


oleObject22.bin

image23.wmf
5

22

1

11

=((cos()1)cos())

4

n

nn

n

pp

p

=

+-×

å


oleObject23.bin

image24.wmf
22

22

2

111

=(cos()1)cos()(cos(2)1)cos(2)

44

11

(cos(3)1)cos(3)(cos(4)1)cos(4)

916

1

(cos(5)1)cos(5)

25

pppp

pp

pppp

pp

pp

p

+-×+-×+

-×+-×+

-×


oleObject24.bin

image25.wmf
222

22

1111

=(11)(1)(11)1(11)(1)

449

11

(11)1(11)(1)

1625

ppp

pp

+--×-+-×+--×-+

-×+--×-


oleObject25.bin

image26.wmf
222

1222

=

4925

ppp

+++


oleObject26.bin

image27.wmf
=0.4833


oleObject27.bin

image1.wmf
0

22

11

11cos()

()(cos()sin())((cos()1)cos()sin())

4

nn

nn

ntntn

ftaabnntnt

ppnn

ppp

ppp

pp

¥¥

==

=++=+--

åå


oleObject1.bin

image2.wmf
=0

t


